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         

              

   – 

   – 


                
                   
                 

          
Let’s do this!

        

     

Let’s make:
   

    

           

                    
            

       
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  
       Man at the arcade.  The difference between Gina’s score and Tonya’s 

   points.  Four times Tonya’s score plus Gina’s score is 7 points.  Find Gina’s score and Tonya’s 


 Steven is 7 years younger than 3 times Jane’s age.  The difference between 6 times Steven’s age and 
Jane’s age is 9 years.  How old is Steven and 

                     
                     
       

                
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     
      

           
  

        
          
         
           
         
  

        
       
         
          
        
   

        
         
           
        
        
         
  

         
    

       
       
         
        
      
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